Exemplar #6 — Score: 2

M

The work demonstrates a basic understanding of the situation.

» determines the total investment over 5 years for each partner; however, calculations contain
an error

* a portion of the sale price is allocated to each partner; however, the rationale for the allocation
is unclear

The strategy is unclear and/or incomplete.

» although a portion of the sale price is allocated to each partner, it is unclear how that amount
was determined

The logic correctly references some aspects of the problem.

» total investment of each partner is determined and each partner is allocated a portion of the
sale price

» each partner’s investment has some bearing on the sale price allocation; however, a significant
proportion of the sale price is not allocated

The reasoning is unclear; supporting calculations are not well represented; the solution has
some structure.

* the calculations for investments are shown, but contain an error

* the calculations to determine sale price allocation are shown; however, rationale is not
provided and amounts are unreasonable
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